0002196633087999

&0 SEAXE 00>

2016 4F ASCAHR 28 1 M Jﬁ‘?

1la=0, -2 1, 0=0,01, ¢c=(, -1, 0)=%3. 7, &8s, . e Tz =a+sb,

§= a+th +uc L4 5.

(1) 7 OKEINBNELBE XD s DEE KD &.
(2) a ¥ zHI20° DfELTEED s D% KD L.
() g a it b ItEBELEDL IDL, uDifizE kDL,

—%

) [F]2= 12+ (2712 =6, [BI*=1"+0%+1'= 2, T-F=1+0+1=2

ZP=12esEl

|Z12+253F +5*|B)°

28%+45+6
2(S+1)*+4

3]

Tl wRdierzom. S= -

“”

(2) E_’_f = R(E-!-S'];))
=|RP+ STV
= 25+6
- =
€. X f 25+6
cos |20 = Y, T T o —_
2z SR R PE TR
L _ _4s*+24s5+36
25+t6<0 %2 = M&(zs’“&ﬂ)

§5<-3 %2 5*+185+27=0

. §<=-3%7 S=-9%34¢

2<qE<3 &Y, S=—¢-39% ,

) F=(1+rtru, ~2-u, 1+t)
E’,Ta',_g’lau?"ﬂf?tgﬁ‘sm?;
7@ = Ittrutr4tau+irt T 2tr3ute=0 O
90 = 1ttruti+t = 2trut2=0 @
@D.@Fy, t=0,U="2

i




